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1. A random walk process consists of the toss of a fair coin at the end of each day. If the outcome is heads

stock price increases by 1.35% and if the outcome is tails the stock price decreases by 0.85%. What is the
drift of such a process?

A. +0.25%

B.-0.75%

C. +1.25%

D. +1.1%

. A firm has zero debt in its capital structure. Its overall cost of capital is 10%. The firm is considering a

new capital structure with 50% debt. The interest rate on the debt would be 8%. Assuming there are no
taxes its cost of equity capital with the new capital structure would be:

A. 8%

B. 13%

C.12%

D. 10%

3. A firm has a debt-to-equity ratio of 1.0. If it had no debt, its cost of equity would be 12%. Its cost of debt

4.

is 10%. What is its cost of equity if there are no taxes?
A. 21%
B. 18%
C. 14%
D. 16%

If a firm borrows $50 million for one year at an interest rate of 12%, what is the Present Value of the
interest tax shield? Assume a 30% tax rate. (Approximately.)

A. $1.364 million

B. $1.5 million

C. $1.0 million

D. $1.607 million




LEAF 1005 ERMIFATS 4 524 ¥ B4

¥ 2F X 6 F

/:Li >z q o %, 2 _:Vgé >
L | PR e B AR LT A B;F"* 100 » 4
(i 25 &5 D \
f PAirg 12 W 100 ~

5. (following the above question) If a firm Permanently borrows $50 million at an interest rate of 12%, what

is the present value of the interest tax shield? Assume a 30% tax rate.

A. $50.0 million
B. $25.0 million
C. $15.0 million
D. $1.5 million

6. Relative to the underlying stock, a call option always has:
A. A lower beta and a lower standard deviation of return
B. A lower beta and a higher standard deviation of return
C. A higher beta and a lower standard deviation of return

D. A higher beta and a higher standard deviation of return

7. Using the following data for Golf Corporation to calculate the proportions of debt (D/V) and equity (E/V)
for the firm that you would use for estimating the weighted average cost of capital (WACC):

market price/share $12

Book value/share $10
Liquidity value/equity $7.5
Number of shares outstanding 100 million
market price/bond $800

Face value/bond $1,000
Liquidity value/bond $450
Number of bonds outstanding 1 million

A. 40% debt and 60% equity
B. 50% debt and 50% equity
C. 37.5% debt and 62.5% equity
D. 45.5% debt and 54.5% equity
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8. Considering the following three stocks, which stock is the most valuable? Assume the market

capitalization rate for each stock is 10%.

A. Stock A is expected to provide a dividend of $11 a share forever.

B. Stock B is expected to pay a dividend of $6 next year. Thereafter, dividend growth is expected to be
5% a year forever.

C. Stock C is expected to pay a dividend of $6 next year. Thereafter, dividend growth is expected to be
40% a year for 3 years (i.e., until year 4) and zero thereafter.

D. Both Stock A and B are preferred.

9. The net present value of a project depends upon:

A. Company's choice of accounting method

B. Manager's tastes and preferences

C. Project's cash flows and opportunity cost of capital
D. All of the above

10. The efficient portfolios: I) Have only unique risk Il) Provide highest returns for a given level of risk I1I)

Provide the least risk for a given level of returns IV) Have no risk at all
A.lonly

B. Il1and 111 only

C. IV only

D. Il only

11. Assuming investor A invests 60% of his funds in stock X and the balance in stock Y. The standard

deviation of return X is 10%, and on Y it is 20%. Calculate the variance of portfolio returns assuming
correlation between X and Y is 0.5.

A. 0.0100

B. 0.0148

C. 0.0196

D. 0.0200
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12. The correlation between the efficient portfolio and the risk-free asset is:
A +1
B.-1
C.0
D. The information is insufficient.
13. If a stock is overpriced it would plot:
A. Above the security market line
B. Below the security market line
C. On the security market line
D. On the Y-axis
14. Calculate the expected rate of return on the stock using the two-factor APT model by the following data
for a stock.
risk-free rate 4%
factor-1 beta 1.5
factor-2 beta 0.5
factor-1 risk-premium 10%
factor-2 risk-premium 4%
A. 17%
B. 21%
C.13%
D. 10%
15. A bond has face value of $1,000, coupon rate of 0%, yield to maturity of 9% and 10 years to maturity.

The duration of this bond is:
A. 6.7 years

B. 7.5 years

C. 9.6 years

D. 10.0 years
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Security Beta Total Market Value
Debt 0 100
Preferred stock 0.2 100
Common stock 1.2 200
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2. 1333 Black-Scholes Pricing Formula &3t § 2 § fE2 3= 254 & ¢

()P} § § 8T % 2% ( put-call parity ) -
Qg L EEP (L DIWHE X FREP)E § R H b -

Cy=S,-N(d,)-K-e™-N(d,),
P, =K-e"-N(-d,)-S,-N(-d,),
where P,, C,, and S, are the values of put option, call option and stock, respectively. The T is time

period to exercise date, K is the exercise price of option, r represents the risk free rate, and N (-) denotes

the cumulative normal probability density function.




